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I REHE

1 REHR
(1) BREHE (BGFhy)
T E | sname [ EUE | FHAE | snowE | smenE
B 5 RIHA LE RIHALE
(%) (%)
5 | K T 42142 94.6 92.5 4,454.7 4,556.7
% % | BE T - - - - -
5 | & A 774 106.7 94.2 72.5 82.1
| B KT 194.7 98.0 110.6 198.8 176.1
*| 5 ke Fa 0.0 62.0 66.5 0.0 0.0
it 4,486.3 94.9 93.2 4,726.0 4814.9
7 3y & 68.3 92.1 137.1 74.1 49.8
1 X XK 683.1 122.7 222.1 556.9 3075
F it 731.7 119.7 212.4 616.2 3473
E:1) SO FOBRCHERNRD—BLENBEAHS.
2) ToyJ [FEFICSHEEGZEWED, -] FEBENLZVEDETRT,
3) fAMADHIIEADHEIZ0.8FFELERXXKIRENDAE,
(2) BRREHE (BB FhY)
Al |RF5E SH4E SMSERE
3A3IBEAE (12A31H{RE| (A)—(B) |[*E(%)
(EEE] (A) (B) (10831 B B7E)
5 | K T 42142 3,878.9 335.2 87.9%
% % | BE T - - - -
5 | & A 774 73.4 4.0 103.5%
| B K FE 194.7 183.0 1.7 94.5%
*| 5 B T 0.0 0.0 - 62.0%
it 4,486.3 41353 351.0 88.4%
7 3y & 68.3 66.9 1.4 102.0%
1 X XK 683.1 654.0 29.1 119.6%
F it 731.7 707.5 30.2 118.1%
T 1) BHELBREBEDORITCHD,
2) SOUFOBARTHEARS—BLEWNGEELH D,
38) TOJ FEEISHLGEVLED, (-] FBEESGTVEDETRT,
4) FAHADHIZLADHEIZ0.8ZFL-IRKIREDEE,
(3) KIEIDBRKDEMRAILLE
ZEHh (| BEHE £ % A ® O =F  ( % ) e E T
£ E (Fro)|[ 1 =% A 3 % ]| (R TFe)
4214.2 785 17.9 2.1 15 0.2
4 ' E <3,878.9> <78.6> <18.0> 2.2> <1.3> <0.2>
4,454.7 83.1 14.2 1.4 1.3 -
8 & E (4,794.6) (83.1) (13.8) (1.4) .7 -
4,556.7 79.7 16.9 2.1 1.4 -
2 & E (4,902.3) (79.8) (16.5) (2.0 .7 -
AFEE-SEE(RA2F) -4.6 3.7 0.7 0.2 -
AEE—-2FE(KRA2F) -1.2 1.0 0.0 0.1 -
X 1) AFED RO CBZDORFIL. 4F12ABREDECHD.
2) SHEERUV2EEMLEOHFIE. R (3A3BRE) DETHD.
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2 BENIRENE

(B b))

[} Al BOE [KTESIBERXK|KMELERAK(BERXI KX |EMSIIbXK[ERILEX
it & = 492,581 442,968 47,447 2,166 - -
HIiLBEE 1,394,638 1,335,723 46,444 12,470 - -
& & 185,434 183,451 666 1,317 - -
&= F 164,225 154,467 8,863 895 - -
= 206,539 200,672 4,864 1,004 - -
M M| 350,432 325,331 21,434 3,667 - -
(1T 264,008 253,220 7,606 3,181 - -
zE B 224,000 218,581 3,011 2,407 - -
EEY- 85 730,343 709,460 13,860 7,014 - 10
% W 184,625 182,571 1,656 391 - 6
i N 171,693 169,562 605 1,523 - 3
B OB 35,351 35,155 55 142 - -
% E 54,778 54,521 78 178 - -
F o 157,765 147,647 9,945 172 - 0
B OOm 54 36 - 18 - -
w o= N 3,901 3,694 41 165 - 0
1T 6,442 5,945 111 385 - -
E % 89,171 84,830 919 3,422 - -
i M@ 26,564 25,498 449 617 - -
LR 796,428 739,809 40,203 16,416 - -
o8 481,802 439,938 31,481 10,383 - -
E W 142,699 135,634 3,985 3,080 - -
| n 85,094 81,187 3,109 799 - -
= H 86,833 83,050 1,629 2,153 - -
HEEBE 173,391 168,562 3,068 1,762 - -
g B 44,397 41,561 2,085 751 - -
T AN 62,663 61,629 645 389 - -
= B 66,332 65,372 338 622 - -
ABEBR 217,276 190,596 3,647 23,032 - -
# = 93,804 89,961 2,526 1,317 - -
&b 23,097 22,199 169 729 - -
X & 5,183 5,143 13 27 - -
E & 75,475 54,095 839 20,541 - -
= B 15,467 14,998 87 383 - -
M oW 4,249 4,200 12 36 - -
i E M E RS 331,651 313,609 5,607 12,435 - -
B W 30,231 29,276 405 549 - -
B 1R 43,061 41,008 1,283 770 - -
@ W 74,121 67,645 1,432 5,044 - -
B 54587 50,422 1,134 3,031 - -
W 41,531 38,723 729 2,079 - -
B 24,163 23,664 70 429 - -
E n 21,831 21615 184 31 - -
B B 21,189 20,876 171 142 - -
= A0 20,938 20,379 199 359 - -
NI BB 348,644 312,106 34,437 2,101 - -
B @ 80,157 76,585 2,540 1,031 - -
= 71,911 49,744 21,720 447 - -
E B 12,581 12,471 46 65 - -
B K 80,487 70,679 9,431 378 - -
x % 27,781 27,262 362 157 - -
= 40,221 40,159 43 19 - -
B R B 35,506 35,207 295 3 - -
bud b 1,334 1,333 2 - - -
& E 4,486,286 4,214,165 194,714 77,397 - 10
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2) TONFBMLISHELAGEVWED ., T-IEEENGOEDERLTVET,
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2 EEIRERE GIHNALARUEMARZK)
(Bfi:b2)

g Al FHALA|(FARARXK

Tt & = 655 45,945
HILREE 17,148 248,864
'F & 11,103 47,018

5 F 2,918 24,806

= W 979 50,803

M H 331 26,637

[TTR 7 1,689 29,295

g B 129 70,305
BAREBE 15,948 243,329
*x W 4,075 77,067

wm K 871 76,918
B 743 7,069

B E 1,845 18,097

F OE 2,565 60,019

B OR - -

wm = - 54
w3 96 8

E B 1,411 1,519

g 4,341 2,576
LERBE 2,372 48,126
oA 1,025 24,947

E W 1,193 7,945

a 108 5,290

B H# 46 9,944
REEHRE 11,397 29,828
i B 6,909 12,025

B A 2,068 9,052

= = 2,420 8,750
EHERE 3,008 13,471
% ' 796 9,491
"MW 459 190

X R - 72

E E 1,742 3420

= B 9 289

M W 2 8
FENERBE 6,364 30,848
B W 550 2,361

5 778 3,264

@ W 164 10,989

L B 2,755 573
1T 1,657 4,229
5 - 3,673

F N 296 251

Z 159 1,318

= 6 4,190

NI BBE 11,362 22,688
B [ 431 5,624

B =B 28 4,170

E B 497 157

B K 574 5,741

X & 6,022 3,385

= 1A 2,609 1,025

BE R B 1,201 2,586

i 18 - 0

& B 68,254 683,098

E: 1) SO0 FOBRCHERNRA—BLAENBERHY £T,
2) ToJ FEFEIZEEGZVWED, -] FEEATVNDLOE
~LTWLET,

—4-



3 FRAIREHE

() _KIES>B5

Z%

(Bfr:b, %)

a5 & & B & % @ B =
# &t 1% 2 & 3 %5 |REN 1% | 2% [3 % s
&t & & 442,968 405573 14,323 4003 | 19,068 91.6 3.2 0.9 43
HILREE 1,335,723 | 1,245,347 67,635 7,251 15,490 93.2 5.1 05 1.2
5 & 183,451 168,411 12,821 1,556 664 91.8 7.0 0.8 0.4
£ F 154,467 149,569 4,259 392 247 96.8 2.8 0.3 0.2
= Ob 200,672 190,027 5,991 1,312 3,342 94.7 3.0 0.7 1.7
| 325,331 288419 25,305 2,609 8,998 88.7 7.8 0.8 2.8
(1T 253,220 241,007 10,019 693 1,501 95.2 40 0.3 0.6
z B 218,581 207,915 9,239 689 738 95.1 4.2 0.3 0.3
BAREBE 709,281 587,825 | 107,810 | 10,481 3,165 82.9 15.2 15 04
* W 182,393 123,606 54,134 4,179 474 67.8 29.7 2.3 0.3
L N 169,562 157,828 9,636 884 1,214 93.1 5.7 05 0.7
B OB 35,155 31,946 2,897 301 10 90.9 8.2 0.9 0.0
% E 54,521 37,051 13,586 3,002 882 68.0 24.9 5.5 1.6
F o= 147,647 128,366] 18,206 896 178 86.9 12.3 0.6 0.1
BHOX 36 - 14 21 1 - 39.1 58.6 2.3
W) 3,694 1,602 2,035 55 2 43.4 55.1 15 0.1
1T 5,945 4,868 950 124 4 81.9 16.0 2.1 0.1
E % 84,830 81,917 2,316 328 268 96.6 2.7 0.4 0.3
% M 25,498 20,639 4,037 689 133 80.9 15.8 2.7 05
LERBE 739,800 586,835 [ 136,041 6,560 | 10,364 79.3 18.4 09 14
o8 439,929 327,622 104,219 3,325 4,763 745 23.7 0.8 1.1
E 135,634 119,344| 13,927 1,073 1,290 88.0 10.3 0.8 1.0
a 81,187 67,453 12,316 1,118 300 83.1 15.2 1.4 0.4
LIS 83,050 72,416 5,579 1,044 4,012 87.2 6.7 1.3 48
REEHRE 168,562 87,990 73316 6,079 1,177 52.2 435 3.6 0.7
g B 41561 25197 14,190 1,308 866 60.6 34.1 3.1 2.1
2 4 61,629 36,105| 22,576 2,761 187 58.6 36.6 45 0.3
= = 65,372 26,689| 36,549 2,009 125 4038 55.9 3.1 0.2
EHEBRE 190,596 115,785 66,368 7,456 986 60.7 348 39 05
# OB 89,961 58,563| 29,250 1,782 366 65.1 325 2.0 0.4
- 22,199 14,773 5,906 1,351 170 66.5 26.6 6.1 0.8
X IR 5,143 2,562 2,074 492 15 4938 40.3 9.6 0.3
E E 54,095 24894| 25663 3,227 311 46.0 474 6.0 0.6
= B 14,998 13,891 850 187 70 92.6 5.7 1.2 05
;W 4,200 1,102 2,625 419 54 26.2 62.5 10.0 1.3
FENEREE 313,609 180,849 | 112417 17,393 2,950 57.7 358 5.5 0.9
5 W 29,276 17,112 11,260 820 83 58.5 385 2.8 0.3
E R 41,008 27,185 11,203 2,275 346 66.3 273 5.5 0.8
@ W 67,645 37,313 25,068 4,557 707 55.2 37.1 6.7 1.0
L B 50,422 43,288 6,348 651 136 85.9 12.6 1.3 0.3
W A 38,723 29,134 8,278 1,062 249 75.2 21.4 2.7 0.6
m B 23,664 10,811 10,863 1,642 348 45.7 45.9 6.9 15
E 21,615 4987 14,254 2,357 17 23.1 65.9 10.9 0.1
2 IE 20,876 7,996 11,352 1,107 420 383 54.4 5.3 2.0
= A 20,379 3,023 13,790 2,922 644 14.8 67.7 14.3 3.2
NI BB 312,106 97,881 | 175542 | 28,145 10,538 31.4 56.2 9.0 34
B [ 76,585 15,045 52,650 4,194 4,696 19.6 68.7 5.5 6.1
i B 49,744 23,051 23,550 1,491 1,652 46.3 473 3.0 3.3
E & 12,471 2,155 9,412 767 136 17.3 755 6.2 1.1
B K 70,679 20,800| 42,303 5,171 2,405 29.4 59.9 7.3 3.4
x & 27,262 12,596 10,894 3,384 387 46.2 40.0 12.4 1.4
=g 40,159 14,642 15542 9,333 641 36.5 38.7 232 1.6
BEIREBE 35,207 9,591 21,190 3,806 620 272 60.2 10.8 1.8
i 1,333 545 439 205 144 40.9 32.9 15.3 10.8
& &t 4213977 3308630 | 753,892 | 87572 | 63,883 785 17.9 2.1 15
E: 1) SO FRDBERCHENRA—HRLAENEEAHY £7 .
2) ToJ) [FEEISERZZVLDED. -1 FBEENGZVEOERLTVET,
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_(2) KEEEEZK

(Bfr:b2, %)

T & & B & % @ B =
#w F 1% 2 & 3 & |HREHN F | 2% | 3% [Begs
&t & & 47447 45710 483 56 1,198 96.3 10 0.1 25
HILREE 46,444 17,838 26,381 1,371 855 384 56.8 30 18
5 & 666 83 550 31 2 12.4 82.6 47 0.3
" F 8,863 7,713 940 44 166 87.0 10.6 05 1.9
=7 W 4,864 870 3514 478 2 17.9 72.3 98 0.0
B H 21,434 1,089 19,217 590 538 5.1 89.7 2.8 2.5
1T 7,606 5619 1,652 191 144 73.9 21.7 2.5 1.9
z B 3,011 2,465 507 37 3 81.9 16.8 1.2 0.1
BAREBE 13,860 10,743 2,684 331 101 715 194 24 0.7
* W 1,656 1,133 416 91 16 68.4 25.1 55 1.0
7 N 605 520 63 18 4 85.9 105 3.0 06
B OE 55 16 18 20 1 28.8 32.6 374 1.2
w E 78 15 43 16 4 19.6 54.7 20.1 55
F = 9,945 8,042 1,754 133 16 80.9 17.6 1.3 0.2
" = -
#wE N 41 2 35 4 1 46 83.9 9.3 2.3
1T 111 25 30 2 55 22.0 27.3 15 49.2
E B 919 689 204 27 0 74.9 22.1 2.9 0.0
B M 449 303 122 20 4 67.4 27.1 46 1.0
LERBE 40,203| 23469 14,684 1,736 315 58.4 365 43 0.8
o8 31,481 17,236 12,940 1,065 240 54.8 41.1 34 0.8
E W 3,985 2,857 879 220 28 71.7 22.1 55 0.7
a 3,109 1,981 677 408 43 63.7 21.8 13.1 1.4
i 1,629 1,394 188 43 4 85.6 115 2.7 0.2
REEHRE 3,068 1,417 1,472 145 34 4622 480 47 1.1
I B 2,085 1,211 758 91 26 58.1 36.3 43 1.3
2 M 645 149 469 20 6 23.0 72.8 3.2 1.0
= B 338 57 245 35 2 17.0 72.4 10.2 0.4
EHEBRB 3,647 693 2,516 408 30 19.0 69.0 1.2 0.8
% B 2,526 319 1,927 258 22 12.6 76.3 10.2 0.9
O 169 6 138 22 3 34 81.7 13.2 1.6
X B 13 3 4 5 1 26.2 28.3 38.2 7.2
E & 839 357 383 97 3 425 45.6 115 0.3
= B 87 8 60 18 1 8.8 68.8 20.9 15
O W 12 - 4 7 1 - 34.6 59.4 6.0
FENERBE 5,607 1,979 2,939 547 142 35.3 52.4 9.8 25
5 W 405 203 176 24 2 50.1 434 59 06
E 1,283 650 504 110 19 50.7 39.3 8.6 15
@ W 1,432 90 1,146 149 46 6.3 80.1 10.4 3.2
L B 1,134 464 483 177 10 40.9 42.6 15.6 0.9
1T | 729 513 184 25 6 70.5 25.2 34 0.9
m B 70 8 51 7 3 1.5 73.9 9.7 49
EF N 184 45 125 11 3 24.2 68.1 6.0 1.7
Z IE 171 3 99 23 45 20 58.1 13.4 26.4
= A 199 3 169 21 6 1.3 85.2 10.6 3.0
NI B 34,437 9,862 | 22,729 1,064 781 286 66.0 3.1 23
= | 2,540 523 1,699 83 236 20.6 66.9 3.2 9.3
h B 21,720 8,622 12,553 310 235 39.7 57.8 1.4 1.1
E & 46 - 41 4 1 - 89.2 9.5 1.3
N 9,431 673 8,253 390 114 7.1 87.5 4.1 1.2
x % 362 6 132 84 141 1.6 36.4 23.1 38.9
=g 43 - 3 32 7 - 8.0 75.6 16.4
BER B 295 38 48 161 48 12.8 16.3 54.6 16.4
i 2 - - - 2 - - - 100.0
& &t 194,714 111,710 73,889 5,659 3457 57.4 37.9 29 18
E: 1) SO FRDBERCHENRA—RLAENVBERHYET .
2) ToJ FEfLICHEZGZVWED, -] FEENEZVVEDERLTVET,
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(3) EERARK _ (BT, %)
2 5 _ i o ol = % & ke %
BEHIEFE L I FEE(1F (2% |3 % |H8014 LE ZF1 F2 ZF3 F(HE
&t & & 2,166 - 186 1,936 15 - 30 -| 86| 894 07 -1 14
HILREE 12,470 - 634 10,100 | 1,347 294 96 -| 51|810|108| 24| 08
i & 1,317 - 164| 1,093 59 - - -| 125| 830| 45 - -
" F 895 - - 716 104 67 8 - -| 800| 116/ 75| 09
= W 1,004 - - 305 648 46 5 - -| 304| 646 46| 05
B H 3,667 - 22| 3,420 106 88 30 -| 06| 933 29| 24| 08
(1T 3,181 - 443 2,382 225 79 52 -| 139| 749 71| 25| 16
z B 2,407 - 4l 2185 205 13 0 -| 02| 907 85/ 05/ 00
BAREBE 7,014 11 229 5,617 671 366 120 02| 33[801 | 96| 52| 1.7
* W 391 - 30 280 43 34 4 - 77| 1171 110 87 09
7 N 1,523 11 182 998 161 66 105] 07| 12.0| 655| 106| 43| 6.9
B OE 142 - 2 74 44 21 - -| 17| 525| 31.1| 147 -
% E 178 - 1 119 39 14 6 -| 07| 665 216 7.7 35
F = 172 - - 130 36 7 - - -| 75.1| 206| 43 -
B OHE 18 - - - 1 18 - - - -| 44| 956 -
#wE N 165 - - 108 32 25 0 - -| 65.8| 19.2| 149| 02
1T 385 - 3 348 15 18 2 -| 07| 903 38| 47| 05
E B 3,422 - - 3154 213 53 2 - -| 922| 62| 16| o1
% M 617 - 10 406 90 111 1 -| 16| 658| 145| 179] 02
LERBE 16,416 - 125| 13,740 | 2,288 147 115 -] 08837139 | 09| 07
o8 10,383 - 58| 8,027| 2077 111 110 -| os6| 77.3] 200 11| 11
E W 3,080 - 2| 3,009 62 4 4 - 01| 9771 20| o0.1| o1
a 799 - - 700 86 12 - - -| 876| 108| 16 -
i 2,153 - 66| 2,004 63 20 1 -| 31| 931 29| 09| o0
REERHRE 1,762 4 634 716 341 65 1] 02| 360 407|194 37 0.
g B 751 - 437 163 139 11 1 -| s8.1| 218 185 15| 0.2
2 M 389 - 20 266 91 12 - -| 52| 683| 235| 3.1 -
= B 622 4 177 287 111 42 -l o06| 285| 46.3| 179| 6.7 -
blig_ 3. T4 23,032 905 9908 5630| 2227| 3327 | 1035 | 39 |430 |244 | 97 |144 | 45
% B 1,317 - 1 598 483 67 58 -| 84| 454| 36.7| 51| 44
O 729 - 4 340 300 82 3 -| o5| 46.7| 412| 112 04
X B 27 - - 1 3 21 1 - -| 37| 109| 80.7| 46
E & 20,541 905 9,792 4,481 1,306| 3,089 967| 44| 47.7| 218| 64| 150| 47
= B 383 - 1 209 11 56 5 -| 03| 547 290| 146 14
M ;W 36 - - - 24 12 - - - -| 659 34.1 -
hEMEEREE | 12,435 14| 2754 5645( 1.802| 1,561 659 | 0.1 |22.1 |454 |145 |126 | 5.3
5 W 549 - 12 302 144 90 1 -| 22| 549| 263| 164| 02
E R 770 - 10 455 260 43 2 -| 13| 59.1| 338| 56| 03
2 | 5,044 5 172| 2,686 769 908 505 0.1 34| 532| 152| 180| 100
L B 3,031 2| 1837 866 161 76 88| 0.1| 606 286 53] 25 29
1T | 2,079 7 438 1,140 193 244 58] 03| 21.0| 548 93| 11.7] 28
m B 429 - 285 68 15 60 1 -| 6655 158/ 35| 139| 03
EF N 31 - - 6 14 12 - - -| 19.4| 434| 372 -
B g 142 - - 84 56 0 2 - -| 58.7| 39.71 01| 15
= A 359 - - 39 190 129 2 - -| 10.7| 52.8| 360| 05
NI BB 2,101 4 49| 1,344 369 233 102] 02| 23(640|176 |11.1 | 48
B B 1,031 4 44 735 156 60 31| 04| 43| 71.3[ 152 58 30
k B 447 - - 277 62 67 41 - -| 620| 139| 150| 9.2
E & 65 - - 9 33 15 9 - -| 13.1] 50.3| 22.3| 143
N 378 - - 251 61 48 17 - -| 66.6| 16.1| 128 45
x % 157 - 5 72 51 27 3 -| 31| 457| 32.3| 170 1.9
= 19 - - - 3 16 - - - -| 15.8| 84.2 -
B R B 3 - - - 3 - - - - -| 100.0 - -
3;': -
& &t 77,397 937| 14,518 44,730 | 9,060 | 5994 | 2,157 | 1.2 |188 |57.8 |11.7 | 7.7 | 2.8
E: 1) SUCFRDBERCHENRA—BLANBEAHY £,
2) ToJ FEfLICHEZGVWED, -] FEENGZVVEDERLTVET,
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(4) fFHALHRUEMARXK

(Bfr:b, %)

s g | A ESE (ta) [saExGEaH|[BE B E (X X ) [SRIEEGK)

# i | & % [Nl & % | HEHN wE & ANl & & [ BEH

&t & & 655 655 -] 1000 - 45945 | 45,933 12] 100.0 0.0

HILREE 17,148| 17,148 - 100.0 - 248,864 | 248,860 4 100.0 0.0

5 & 11,103 11,103 -1 1000 - 47018 | 47,018 -1 1000 -

5 F 2918 2,918 -| 1000 - 24806 | 24,805 o] 1000 0.0

= W 979 979 - 100.0 - 50,803 | 50,803 - 100.0 -

B H 331 331 -1 1000 - 26,637 | 26,637 -1 1000 -

1T 1,689 1,689 -| 1000 - 29,295 | 29,295 -1 1000 -

z B 129 129 -1 1000 - 70,305 | 70,301 3| 1000 0.0

EY- T4 15948| 15948 -1 1000 - 243,329 | 243,306 23| 1000 0.0

* W 4,075 4,075 -1 1000 - 77,067 | 77,067 -1 1000 -

7 N 871 871 -1 1000 - 76,918 | 76,915 3| 1000 0.0

B E 743 743 -1 1000 - 7,069 7,069 -| 1000 -

w E 1,845 1,845 -1 1000 - 18,097 | 18,094 3| 1000 0.0

F = 2,565 2,565 -1 1000 - 60,019 | 60,006 13| 100.0 0.0

" = - - - - - - - - - -

W= - - - - - 54 54 -| 1000 -

1T 96 96 -| 1000 - 8 8 -1 1000 -

£ 1,411 1,411 -1 1000 - 1,519 1,518 1 99.9 0.1

B M 4,341 4,341 -| 1000 - 2,576 2,574 2 99.9 0.1

LERBRE 2,372 2,372 - 100.0 - 48,126 | 48,121 5 100.0 0.0

o8 1,025 1,025 -1 1000 - 24947 | 24,947 -1 1000 -

E W 1,193 1,193 -1 1000 - 7,945 7,945 o]l 1000 0.0

a 108 108 -1 1000 - 5,290 5,285 5 99.9 0.1

L 46 46 -| 1000 - 9,944 9,944 -1 1000 -

REERE 11,397 11,397 -1 1000 - 29,828 [ 29,825 3| 1000 0.0

I B 6,909 6,909 -1 1000 - 12,025 [ 12,025 -1 1000 -

2 M 2,068 2,068 -1 1000 - 9,052 9,052 -1 1000 -

= B 2,420 2,420 -| 1000 - 8,750 8,747 3| 1000 0.0

EHERR 3,008 3,008 -l 1000 - 13471 13,456 14 99.9 0.1

% B 796 796 -1 1000 - 9,491 9,491 -| 1000 -

O 459 459 -1 1000 - 190 190 -1 1000 -

X B - - - - - 72 72 -| 1000 -

E & 1,742 1,742 -1 1000 - 3,420 3,406 14 99.6 0.4

= B 9 9 -] 1000 - 289 289 -1 1000 -

M ;W 2 2 - 100.0 - 8 8 - 100.0 -

fENEREE 6,364 6,364 -l 1000 - 30,848 | 30,846 1 100.0 0.0

5 W 550 550 -1 1000 - 2,361 2,361 -| 1000 -

B #® 778 778 - 100.0 - 3,264 3,264 - 100.0 -

@ W 164 164 -1 1000 - 10,989 | 10,989 -1 1000 -

L B 2,755 2,755 -1 1000 - 573 573 -1 1000 -

1T 1,657 1,657 -1 1000 - 4,229 4,229 -1 1000 -

w5 - - - - - 3,673 3,673 -1 1000 -

EF N 296 296 -1 1000 - 251 251 -1 1000 -

T g 159 159 -1 1000 - 1,318 1,318 -| 1000 -

= A 6 6 -| 1000 - 4,190 4,189 1 100.0 0.0

NI BTG 11,362 11,361 0 100.0 0.0 22,688 | 22,685 3 100.0 0.0

= | 431 431 -1 1000 - 5,624 5,622 2| 1000 0.0

B B 28 28 -| 1000 - 4,170 4170 -1 1000 -

E & 497 497 -1 1000 - 157 157 -1 1000 -

N 574 574 -1 1000 - 5,741 5,741 -| 1000 -

x % 6,022 6,022 o] 100.0 0.0 3,385 3,384 1 100.0 0.0

=g 2,609 2,609 -1 1000 - 1,025 1,025 -1 1000 -

BER B 1,201 1,201 -1 1000 - 2,586 2,586 -1 1000 -

i - - - - - 0 0 - 100.0 -

& & 68,254 68,254 o| 1000 0.0 683,098 | 683,032 66 | 100.0 0.0

E: 1) SO FDBERCHENRA—BRLAENBERHY £,

2) ToJ FEfLICHEZGVWED, -] FEENGTVVEDERLTVET,
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4 BWARENE

(1) KFEIDBZR K
(BRI b, %)
o = & E
A E = 5 > = [ 3 Z (BB
HLNEDOMBY % 1,504 65.3 29.3 47 0.8
Z A 32,411 84.5 13.9 1.4 0.2
oA B 49 - 73.2 26.8 -
I E 33,964 83.5 14.7 1.6 0.2
HLNVBEDZAH T A 533 89.6 9.3 0.8 0.3
LTV E W 1 - - - 100.0
HEIFLE F N 21 86.5 135 - -
B X 2,468 86.6 12.1 1.2 0.1
B 19 60.9 39.1 - -
o 8 # W -
N E 2,508 86.4 12.3 1.2 0.1
HEIMY E W 16 100.0 - - -
B H 8,734 90.7 4.8 0.6 3.9
g B 395 62.4 32.3 49 0.4
5 B 10,609 86.8 11.3 1.7 0.2
"= B 7,549 40.8 47.9 9.0 2.3
EF 4,384 39.2 58.9 1.9 0.1
N E 31,686 70.0 25.0 3.2 1.7
HE-ZFDL T & 1,231 96.3 2.9 0.6 0.2
® F 18,583 97.3 2.2 0.5 0.0
O 19 47.3 52.7 - -
# H 255,842 88.9 75 0.6 3.0
o 3,616 90.2 9.1 0.4 0.2
B B 998 92.4 6.9 0.7 0.0
* 32,942 85.3 13.4 1.2 0.1
m E 1,020 66.8 30.6 2.3 0.2
F o= 6,263 90.2 9.1 0.7 -
Hn B 182 69.3 30.6 0.0 -
E W 9 72.3 - - 27.7
a 15 100.0 - - -
E % 9,216 95.4 3.9 0.7 0.0
g B 1,933 80.7 17.9 0.9 0.5
% @ 19 24.2 70.6 5.2 -
Z A 1,543 83.3 15.5 1.1 0.1
= E 1,846 64.8 32.4 2.7 0.2
B 1,296 81.2 18.2 0.5 -
X 60 - 59.5 40.4 0.1
E & 204 51.0 31.4 17.6 -
= B 84 50.9 31.4 15.2 2.5
E m 2 935 6.5 - -
M W 8,886 70.3 26.0 2.7 1.1
5 B 1,547 92.7 6.0 0.6 0.7
w A 38 75.3 24.7 - -
OB 47 8.1 438 453 2.8
& 16 37.1 484 14.5 -
2 g 2,354 13.7 75.6 9.7 1.0
= 0 127 8.8 55.8 28.2 7.2
X % 7 100.0 - - -
w7 34 435 56.5 - -
on 72 3% AR 1 - 100.0 -
INOE 349,980 87.9 9.1 0.8 2.2
HE-EHY B H -
HEt-1E5Y # H -
#HE635 M H 969 47 14 16.4 775
on T2 8% 4R -
N E 969 4.7 1.4 16.4 77.5




(B b, %)

s = =3 R ke E

AR *E E—E i‘H_j. s =] 1 %—_F 2 %-_F 3 % ;E 1:% %

HELDHDL = B 151 98.5 15 - -

*x W 49 484 51.6 - -

m K 218 97.4 26 - -
BB -
m E -

F o= 311 71.1 24.3 46 -

o8B 1,685 51.7 46.9 14 -

E W 1,510 85.9 9.9 3.2 1.0

a 431 55.8 41.7 - 25

E % 153 100.0 - - -

Z A 470 458 51.0 3.2 -

#oB 822 66.9 27.0 6.1 -

E E 1,394 419 53.3 438 -

E mW 1 100.0 - - -

E R 76 100.0 - - -

2 4 73.0 27.0 - -

5 B 354 89.1 10.7 0.2 -

T B 20 - 70.4 29.6 -

A 41 30.7 30.7 20.7 18.0

X & 202 32.8 39.7 275 -

w7 951 2.3 50.2 42.0 5.4

in 18 % W 555 70.1 29.1 0.8 -

N E 9,401 57.5 34.3 7.4 0.9

T7EXYUK = 71 3.0 37.3 55.9 3.7

mEe S 11 9.9 86.4 3.7 -

NOks B 7,223 86.3 13.1 0.5 0.1

MoELHE M H 235 99.3 0.7 - -
o 8 #8 W -

N E 235 99.3 0.7 - -

HEDED BE R B 418 74.8 23.6 1.6 -

7¥XeAHY @ W 243 97.1 2.0 0.0 0.8
o 8 #8 WA -

N E 243 97.1 2.0 0.0 0.8

HEFLH BERE 6,517 36.9 54.4 7.4 1.3

HEFIY B A 1,619 20.9 75.7 3.2 0.3

X % 13 46.1 418 - 12.2

in 18 8% W 1 - 100.0 - -

N E 1,632 21.0 75.4 3.2 0.3

HEFEDOY A 4 90.9 5.6 3.6 -

HEAFA 5 B 4,146 89.0 10.0 0.9 0.2
an 8 #8 W -

N E 4146 89.0 10.0 0.9 0.2

TR/ @ W 17,429 416 49.4 8.3 0.6
o 18 # W -

N E 17,429 416 49.4 8.3 0.6

L)) BB 5 - 100.0 - -

m E 4 - 100.0 - -

N 10 - 100.0 - -

ZH 2 5,302 17.2 55.9 23.7 3.3

n 18 8% W 1 63.2 36.8 - -

N 5,303 17.2 55.9 23.7 3.3

HIVDE *x W 2,776 90.4 8.0 1.6 0.0

m K 20,169 95.1 3.2 0.8 0.9

B B 25,401 96.0 3.2 0.8 0.0

m E 1,816 79.5 16.2 43 0.1

T 509 85.7 12.0 2.3 -

g B 1,236 66.6 25.8 38 3.9

% [E 13 71.8 0.5 - 27.8
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(B b, %)

o % R ke E

A " B Z [ 2 2 [ 3 Z [RRA

HIVDE(DDFE) Z A 368 68.9 25.7 5.3 -

n 18 8% WA 1 - 100.0 - -

N 52,290 93.8 47 1.1 0.5

HpE 5 & 192 91.4 8.6 - -

BFEOHIEY B 25 - - 100.0 -

¥ it & & 82 88.3 11.7 - -
¥EA BERE -

HPUVH i | & 680 89.6 5.7 4.7 -

HhHHDY m B 19 7.1 62.6 25.4 5.0
o 8 #8 W -

N E 19 7.1 62.6 25.4 5.0

RKREZFEDL o e 587 94.3 5.0 0.7 -
o 8 #8 W -

N E 587 94.3 5.0 0.7 -

149EHh) = H# 509 61.1 20.9 15.7 2.3

= =B 50 11.2 53.4 35.4 -

M oW 48 28.9 63.3 2.8 5.0

"= B 5 48.8 15.9 - 35.3

= 0 80 31.0 58.7 10.3 -

B R B 3,612 9.7 72.9 14.8 2.6

N E 4304 16.4 66.1 14.9 25

W=1=& F ¥ 16 45.9 54.1 - -
B K -

n 18 8% WA 227 55.7 426 1.7 0.0

N 243 55.1 43.3 1.6 0.0

—&E *x W 943 93.2 6.6 0.2 -
o 8 #8 W -

N 943 93.2 6.6 0.2 -

WhsIFFEN T 6,800 95.9 4.0 0.1 0.0

(RYAFI=) B E 160 82.3 17.1 0.5 -
o 8 #8 H -

N E 160 82.3 17.1 0.5 -
LDLEDE B W -

o 22 67.0 33.0 - -

*x W 2 65.6 34.4 - -

m K 25 88.0 5.4 6.6 -

F o= 21 95.0 5.0 - -

o8B 47 22.3 63.6 14.1 -

E % 49 80.7 12.0 7.4 -

g B 837 59.2 26.8 11.9 2.0

&% M 10 94.3 5.2 0.6 -

Z A 17 8.4 91.6 - -

O 0 50.0 - - 50.0

B & 13 67.2 28.9 0.7 3.2

L B 12 100.0 - - -

N 1,056 60.2 27.6 10.6 1.6

WhToHE CES 5,207 97.9 1.9 0.2 -

ST AR = = 4 100.0 - - -

ZHDHE A8 8 100.0 - - -

EHDHE E B 9 100.0 - - -

*x W 5 100.0 - - -

o8B 282 97.7 1.0 0.6 0.7

a 9 100.0 - - -
# ' -

in 18 8% WA 100.0 - - -

N 307 97.9 0.9 0.6 0.6

ZHED i &/ & 7,148 95.8 3.6 0.6 0.0
ZHEDD = =B -
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(B b, %)

o s = % R ke E
AR *E E—E i‘H_j. s =] %—_F 2 %.F 3 % ;E 1:% %
IILS—L—F *x W 1 - 100.0 - -
LGCY 7k = B 14 77.2 22.8 - -
*x W 5 100.0 - - -
g B 7 25.6 74.4 - -
&% M 43 76.1 23.9 - -
& -
L B 1 100.0 - - -
N E 70 73.1 26.9 - -
BEU wm K 3 100.0 - - -
o8B 12 49 93.9 - 1.2
E W 1 - - - 100.0
g FH 15 - 100.0 - -
E % 66 - 79.6 20.4 -
g B 65 - 89.7 8.9 14
&% M -
Z A 187 - 99.1 0.9 -
= =B 21 21.9 78.1 - -
# ' 75 - 96.0 4.0 -
" O -
g 7 7.8 92.2 - -
& R 115 - 76.1 23.3 0.6
L B 51 - 100.0 - -
N 1 - 100.0 - -
in 18 8% WA 11 60.2 39.8 - -
N 631 2.4 89.1 8.0 0.5
BLTEL E 3,683 79.1 19.7 1.2 -
VA E N 505 - 100.0 - -
o 8 #8 W -
N 505 - 100.0 - -
PN T Rl z B 525 96.5 35 - -
m E 311 - 87.6 9.6 2.8
= =B 196 0.6 99.4 - -
B 666 8.5 79.0 12.4 -
in 18 8% WA 684 21.4 76.1 1.5 1.0
N E 2,382 29.9 64.3 5.2 0.6
BEIZLW = -
g B -
Iv F -
PTAEETRD £ B 8 23.7 76.3 - -
B IF 925 68.1 24.2 5.4 2.4
o 8 #8 H -
N 933 67.7 24.6 5.3 2.4
BIFE»DIE it &/ & 6,682 93.2 6.0 0.6 0.2
BhoEA = W 2 - - 100.0 -
MR T W 10 100.0 - - -
E E 37 98.5 15 - -
N E 47 98.8 1.2 - -
mFIxL "2 F 127 93.6 6.4 - -
o 8 #8 W -
N 127 93.6 6.4 - -
BAS0H E % 5,701 89.9 9.6 0.4 -
BDELS M H 64 71.7 14.9 8.2 5.2
XO) s -
ERE *x W -
oA 10 - 98.2 1.8 -
on 18 #4 -
N E 10 - 98.2 1.8 -
B=EDR 5% m 571 92.9 6.4 0.7 -
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(B b, %)

o = % R ke E
"” E : 2 (2% [ 5% [HBA
HEDR (DDE) ' E 6 45.7 43.3 - 11.0
E XK 1 100.0 - - _
o 8 #8 H -
N E 578 92.4 6.8 0.7 0.1
I %2078 g B 65 65.8 31.6 2.6 -
=<KYA it | & 6,517 98.6 1.2 0.2 -
timfE it & & 13 38.8 61.2 - -
XA B O 15 90.0 10.0 - -
% 132 87.3 12.7 - -
B E 13 53.1 26.5 204 -
m E 1,498 88.6 9.9 1.3 0.2
X 198 30.1 65.8 3.9 0.1
o8B 563 84.6 15.4 0.0 -
E H 188 52.9 1.1 46.0 -
E % 150 98.6 14 - -
g B 19 100.0 - - -
% [ 267 61.9 34.8 3.1 0.2
Z A 41 27.3 72.7 - -
= B 3,766 32.7 62.5 46 0.1
B 14,868 43.7 52.2 4.0 0.1
O 2,970 60.5 30.2 7.3 2.0
X 1,112 21.7 51.1 26.2 1.0
E & 8,310 40.4 51.9 7.2 0.5
= B 219 66.3 29.8 36 0.3
M oW 1,485 10.2 73.1 15.1 16
M W 774 61.4 33.7 4.7 0.1
5 B 75 6.7 53.3 37.9 2.1
m OB 689 30.2 51.7 15.2 2.8
& 5 - - 100.0 -
B g 312 48.3 40.4 9.4 2.0
= A -
B XK 4,298 0.3 65.9 29.6 4.2
m 12 ¥ 4 23.0 29.4 47.6 -
N E 41,973 39.8 50.4 8.8 0.9
ZEHLTH % 3,804 78.4 16.6 45 0.6
Z A 16 56.3 437 - -
= =B 326 38.3 44.8 15.0 1.8
HoB 4,085 95.0 4.2 0.8 0.1
" O 10 86.4 13.6 - -
X R 241 51.9 36.6 11.4 -
E E 4,693 68.2 29.2 2.4 0.2
M oW 1,374 46.8 49.1 3.6 0.5
B 9,548 78.2 20.1 14 0.3
& 16,709 78.7 18.0 2.6 0.7
@ W 11,495 75.6 22.8 1.2 0.4
5 B 341 99.6 0.1 0.4 -
w A 6,524 87.2 115 1.2 0.2
B g 69 72.0 28.0 - -
= 40 56 05 62.6 27.6 9.3
in 18 8% WA 93 98.2 1.8 - -
N E 59,384 78.2 19.3 2.1 0.4
SHIEDE [ 1 100.0 - - -
L Ep B2 O 439 94.0 55 0.5 -
HDIEE R 2,411 86.8 12.1 1.1 -
FI=F . H 70 100.0 - - -
kS a2 F 173 97.8 2.2 - -
=55397 i & & 32,974 96.0 1.9 2.1 0.0
EHYA E % 101 99.1 - 0.9 -

-13-




(B b, %)

o s = % & ke E3
o i E b w3 = > = BERE R
E5YA(DDE) on 18 # 4R -
N E 101 99.1 - 0.9 -
EOLRE R 1,798 11.9 43.6 42.1 2.4
M H 161 25.4 19.4 55.2 -
[T 13 18.0 82.0 - -
2 0 - 100.0 - -
L B 9 100.0 - - -
A 13 43.0 515 55 -
N E 1,994 13.6 41.8 425 2.1
FADHSH o B 1 100.0 - - -
[T 310 94.4 5.6 - -
E % -
B M@ -
N E 312 945 55 - -
£k g B -
B E>H B m -
OB 53 36.7 46.2 17.1 -
N E 53 36.7 46.2 17.1 -
SBADLT < 2 F 11,005 99.3 0.7 0.0 -
FASA B | 2,034 69.0 22.5 7.8 0.6
oh T8 8% WA -
N E 2,034 69.0 22.5 7.8 0.6
(FESADIEE S 4132 29.0 62.9 7.5 0.6
{ESADH BE XK 2,358 455 44.4 8.4 1.6
29U = W 2 - - - 100.0
TE2LL 2 [ 13,845 76.2 215 14 0.9
FAEES =2 W 756 89.2 10.7 0.1 -
TwoHL oA 48 - 100.0 - -
L B 2 - 100.0 - -
E 15 63 5.3 63.6 30.8 0.2
N E 113 3.0 79.7 17.2 0.1
PNOE 27 7 N -
F o= 1 100.0 - - -
X R -
2 109 81.1 17.2 1.7 -
5 B 1,554 745 20.0 5.1 0.5
A 1,587 85.2 13.4 14 0.1
X & 437 14.8 57.0 215 6.7
in 18 8% WA 18 91.6 8.4 - -
N E 3,708 72.3 21.4 5.3 1.0
ZWEAL 5 B 279 87.1 12.1 0.8 -
oh T8 8% WA -
N E 279 87.1 12.1 0.8 -
ELR = 15 - 49.4 29.9 20.7
=g 9 65.6 19.3 15.1 -
N E 24 25.2 37.8 24.2 12.7
o] = B -
_CAED = W -
ZLLVRE BB 86,683 57.0 41.7 1.1 0.2
HRB 4 E ) 23 100.0 - - -
oh 18§ -
N E 23 100.0 - - -
BoMEY E ) 9 345 - 65.5 -
E R 10 - 100.0 - -
o 18 #8 W 14 - - 100.0 -
N E 33 9.3 31.0 59.6 -
asehY &F & 2 100.0 - - -
B F 52 97.9 2.1 - -
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(B b, %)

o s = =3 R ke E
& E | 8 Z [ 2 % [ 3 % [HREN
aTERY) (DDE) T W 1,078 94.5 5.4 0.1 -
# H 178 91.5 5.1 2.4 1.1
W 6,925 95.5 4.2 0.3 0.1
E B 112,073 96.3 3.4 0.2 0.0
% 117,077 60.0 37.1 2.6 0.4
w oK 106,323 92.4 7.0 05 0.1
B B 2,172 574 40.5 2.0 0.1
m E 10,147 21.8 56.3 19.5 2.4
F oz 73,325 83.8 15.5 0.6 0.2
x| 28 32,5 64.2 3.3 -
o8 277,081 79.9 19.4 0.5 0.2
E W 92,216 86.6 12.4 0.6 05
a 42,476 80.4 17.7 1.6 0.4
E H# 32,385 87.4 7.6 1.1 3.9
[T} 4,407 88.9 10.1 1.0 0.0
£E % 63,984 98.0 1.7 0.2 0.0
g B 9,546 58.6 36.5 35 1.4
% [ 14,880 84.1 13.3 2.1 0.4
Z A 16,701 6.7 81.2 11.7 0.5
= E 48916 37.7 59.1 3.0 0.2
BB 29,995 54.3 43.8 1.7 0.3
2O 11,928 66.3 29.2 3.7 0.8
X 70 48.3 38.4 12.4 0.9
E & 23,467 37.3 56.8 5.2 0.6
= B 692 93.6 4.4 1.6 0.5
02 W 382 2.6 67.5 27.1 28
E m 9,246 40.2 54.8 46 0.4
& 17,240 56.3 34.3 8.5 0.9
@ W 9,560 79.7 18.2 14 0.7
5 B 22,637 87.3 11.6 0.9 0.3
w A 9,377 77.3 20.1 1.6 1.0
m OB 14,201 49.2 445 5.4 0.9
F N 6,433 2.3 66.6 31.1 0.0
2 g 7,873 53.1 42.3 4.2 0.4
= A0 13,312 16.1 68.4 12.7 28
2 M 868 33 92.6 3.6 0.5
k B 3,294 87.1 11.1 1.7 0.1
E & 1,802 31.4 62.3 5.6 0.7
N 7,891 62.5 31.4 4.4 1.6
X % 1,399 67.3 22.0 8.7 2.0
B 16,030 73.8 215 3.7 1.0
BE R E 4,667 426 50.2 6.0 1.2
o 8 #8 H -
INOE 1,244,340 75.2 22.4 2.0 0.4
aLEAJER1E A -
CRHRPEVSH I B 3 - - 100.0 -
HAEII = 22 81.5 18.5 - -
M H 39 100.0 - - -
E B 36 95.8 4.2 - -
m E 93 89.9 4.6 55 -
F oz 270 97.0 3.0 - -
Hn B 97 - 74.8 25.2 -
a 1 - 100.0 - -
= H# 26 100.0 - - -
[T} 84 94.0 6.0 - -
E % 83 98.8 1.2 - -
OB 1 100.0 - - -
hiE 8RR -
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(B b, %)

o = =3 R ke E
& 8 E i R = = BERE R
HEI(DDF) N 752 83.1 13.0 3.9 -
JaEAhHY B B -
EEDE 52 _F 1,121 93.0 6.8 0.2 -
SLES55B B B -
EDhHpE e 18,110 934 6.0 0.5 0.1
EDETH B E 14,486 75.3 22.9 15 0.3
FEDIXIFEZH B E -
EDHDY H E -
=AU LY k B 18,596 56.3 40.9 2.7 0.1
=uohny = IF 7 25.7 74.3 - -
=19 M H 3,803 97.7 1.0 0.0 1.2
Y 5L = R 33 38.1 59.6 23 -
HH=-Ix [TES 381 83.1 14.6 2.2 0.1
B OW 12,332 94.2 5.2 0.2 0.4
#? H 815 86.6 12.7 0.5 0.2
o 1,225 81.9 17.6 0.4 0.2
= B 63 95.1 4.9 - -
VN 5 - 22.6 77.4 -
= 13 48.0 52.0 - -
iR 24 27.6 31.0 22.6 18.8
§ 14,858 92.3 6.9 0.4 0.4
SEXRE B -
SELFEA ) 71 27.8 71.6 0.6 -
= 184 39 92.6 1.2 2.3
T2 8% 1A -
§ 255 10.5 86.8 1.0 1.6
BoE % 1 79.2 20.8 - -
ENMMO RS ! 9,658 93.5 5.8 0.7 0.0
SHELLVEL I 94 - 100.0 - -
Shhsy g3l 24 - 34.3 54.8 10.9
SHDIEH A 40 78.3 14.3 7.1 0.3
Shuhy 5 1 - 100.0 - -
SASAED i & & 796 78.7 19.5 - 1.7
LAKDHDY ¢ H 151 92.9 6.9 - 0.2
FK 15 B 11 98.7 1.3 - -
&5 154 14 - 90.3 9.7 -
) 56 - - 99.2 0.8
E W 13 - - 100.0 -
a 6 - 100.0 - -
E R 5 - - 100.0 -
&t 93 - 20.0 79.5 05
HEETIH PN 3 82.5 175 - -
£ 176 93.0 7.0 - -
i T2 8% 1A 8 100.0 - - -
£t 188 93.1 6.9 - -
2 Bh 19,922 97.7 1.8 0.1 0.4
2/—1\—)L H 51 - 100.0 - -
BRDEE = 11,217 96.3 35 0.2 0.0
2ENIZL =] 13 82.7 17.3 - -
FRRE =) 88 100.0 - - -
T2 8% 1A -
5 88 100.0 6.9 - -
TohE ] 3,099 100.0 0.0 - -
Kt & 40 1,599 57.1 41.3 16 -
T2 8% 1A 71 100.0 - - -
§ 1,670 58.9 39.6 1.6 -
KD 2 Pl 1,119 70.3 11.3 18.5 -
=h =0 F 224 99.9 0.1 - -
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o s = =3 R ke E
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HhlFdh Z A 57 76.4 21.6 1.8 0.2
on T8 # -
N E 57 76.4 21.6 1.8 0.2
HDIZLE g B 85 77.2 22.8 - -
E1oL Z2 [ 808 5.4 80.9 12.5 1.3
HDY DI = E 658 62.9 30.4 6.6 -
o 18 #8 AR 44 100.0 - - -
N E 703 65.3 28.5 6.2 -
HDYDFE = = -
w5525 | 1,088 19.4 455 26.8 8.3
X —HA4—> " F 46 94.5 0.4 2.8 2.3
7O 79 79.1 20.9 - -
B |A 314 89.6 10.0 0.0 0.3
[T 819 97.4 2.3 0.1 0.1
B B 2,255 93.8 55 0.3 0.3
* W 5,709 76.5 21.9 1.3 0.3
K 1,030 91.9 7.1 0.9 0.1
B OE 8 100.0 - - -
% E 246 24.7 61.1 14.0 0.2
F o= 1,091 97.8 1.9 0.0 0.2
o B 2,020 64.6 33.6 1.1 0.7
E W 1,676 94.4 438 0.3 0.5
g N 634 78.4 16.8 4.7 0.2
= H 520 77.3 19.8 1.9 1.1
(T 42 61.7 19.4 16.5 2.4
E % 1,776 97.2 2.7 0.1 0.0
g B 319 31.3 48.3 13.9 6.6
g% M 375 85.0 13.5 1.4 0.1
T A 834 34.6 61.3 4.2 -
= E 718 58.8 38.6 2.6 0.0
HoB 2,120 50.7 435 5.3 0.4
W 406 68.1 27.6 43 -
E E 349 67.5 32.0 0.2 0.3
B 117 66.6 334 - -
E B 17 26.6 70.5 - 2.8
MW 175 56.7 38.4 34 15
5 B 820 89.8 8.0 1.3 0.9
W o 37 59.9 39.1 1.0 -
= B 7 14.8 70.9 7.6 6.8
= AN 223 9.8 68.7 19.4 2.0
B M| 164 15 91.3 5.6 1.7
BB K 479 59.6 348 55 0.1
X & 32 75.8 24.2 - -
g 297 81.1 10.3 7.9 0.7
EBEREB 298 4.6 83.4 12.0 -
fn 18 8% W 17 38.9 61.1 - -
N OE 26,068 75.0 22.3 2.3 0.4
S)LF—YT— F = 0 70.0 30.0 - -
W4 10 - 7.8 92.2 -
N 10 2.0 8.4 89.6 -
ILF—T)otR M M 448 33.1 66.4 - 0.5
E B 26 76.1 23.9 - -
5 4 14.3 85.7 - -
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o % R ke E
mo B E = Z [ 2 % [ 3  [BRA
SLXF—TYoER(DDF) | #1 I W 1 - - 100.0 -
n T8 #7 19 63.3 35.1 0.8 0.8
N 498 36.3 63.0 0.2 0.5
L= % g & 27 77.2 22.8 - -
CNYr=10) ;] E & -
DA M | 21,380 90.6 8.0 0.7 0.7
o 8 #8 W -
N E 21,380 90.6 8.0 0.7 0.7
BHAHDY 5 F 134 81.0 19.0 - -
O 3,418 96.0 1.1 2.8 0.1
M H 2,342 93.7 4.4 0.5 15
o 136 100.0 - - -
*x W 22 77.3 22.7 - -
F oz 321 76.3 22.1 1.6 -
o 8 #8 W -
N E 6,374 93.9 3.8 1.8 0.6
FEDSESA ES 8,551 8.0 86.8 4.6 0.7
ILfZ955 1T 1,472 95.8 3.8 0.4 -
PEEDHS oA 24 - 100.0 - -
w A 280 24.7 53.6 21.7 -
A 994 0.5 82.7 14.1 2.7
o 8 #8 W 470 42.1 57.9 - -
N E 1,768 15.4 71.8 11.4 1.5
PFEOLTK = W 88 89.0 9.3 1.7 -
<teAhY) = = 6 17.7 70.0 12.3 -
M oW 3 - - 77.6 22.4
E m 1 - 100.0 - -
N 10 11.3 54.1 28.6 6.0
p571=1V21 W 21 100.0 - - -
B B 47 100.0 - - -
* 11 99.5 0.5 - -
m K 755 91.7 7.7 0.6 -
m E -
F o= 64 100.0 - - -
E W 1,020 93.8 5.2 1.0 -
= -
HoB 177 56.8 432 - -
E E 1 100.0 - - _
n 18 8% WA 18 88.4 1.0 7.4 3.2
N E 2,115 90.3 8.9 0.8 0.0
phYDE E & -
wEHLEH 2 F -
FEEA I &/ & 1,089 78.3 19.6 1.2 0.9
PpEIOM i &5 & 563 95.8 4.1 - 0.1
DEDE rn B8 820 485 50.5 0.9 0.0
o 8 #8 WA -
N 820 485 50.5 0.9 0.0
WpEDIF%E 5 & 3 100.0 - -
Enk it & & -
RPEDHSH I & & -
PEUVMY i &\ & 338 97.7 2.3 - -
WwELTY R 84 99.8 0.2 - -
WwELDOH it | & 52 65.6 34.4 - -
EEAN T 21,974 98.0 1.9 0.1 0.0
WEAFE bR 22,927 87.9 11.0 0.8 0.2
HHT S " F 908 87.9 12.0 0.1 -
= 297 92.2 7.8 - -
N E 1,205 88.9 11.0 0.1 -
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o s = % R ke E
AR *E E—E i‘H_j. s =] 1 %—_F 2 %-_F 3 % ;E 1:% %
Z—mk E M 502 6.6 93.4 - -
Z o lEL W 67 98.6 14 - -
o 8 #8 W -

N 67 98.6 14 - -
RPOHESH # B 1,187 84.1 15.2 0.7 -
WwOHHIXZ o B 7,803 93.1 6.0 0.4 0.5

an 8 #8 WA -

N E 7,803 93.1 6.0 0.4 0.5
WwHMER F 2 100.0 - - -
22CH T W -

o 208 97.3 2.7 - -

= B 33 100.0 - - -

*x W 40 72.9 27.1 - -

m K 14 94.9 5.1 - -

F o= 8 100.0 - - -

o8B 39 44.3 477 8.1 -

E W 7 100.0 - - -

a 65 80.3 18.2 1.6 -

B H 18 94.9 5.1 - -

E % 66 89.1 10.9 - -

g B 47 - 100.0 - -

= B 420 79.8 20.1 0.1 -

B 451 422 53.0 3.9 0.9

O 87 100.0 - - -

E E 60 96.2 3.8 - -

N E 1,562 70.9 27.4 14 0.3
Z2L9¢ k B 16,373 37.8 60.0 2.2 0.1
WpE&HLED E % 196 924 1.6 6.0 -

o 8 #8 WA -

N 196 92.4 1.6 6.0 -
Zo<L G 35118 5.9 85.1 7.9 1.1
ZNE B8 10 100.0 - - —

E E -

& R -

[Tl -

L B 61 86.8 12.9 0.3 -

o 8 #8 W -

N E 72 88.7 11.1 0.3 -
aAEHY) X & 25 2.1 97.9 - -
BHV=H * W 1,050 63.4 30.5 6.1 -

BB -

o 8 #8 W -

N E 1,050 63.4 30.5 6.1 -
pHUY H i & & 127,690 95.4 3.0 1.6 0.1
wHEDY B OE 4,404 94.8 5.0 0.1 0.0

Z A 1,528 22.2 72.0 49 0.9

o 8 #8 W -

N E 5,932 76.1 22.3 14 0.2
WHHLE i M -
pHHDF a 21,323 86.0 12.7 1.1 0.2
EHDHLN #H B 9 26.0 74.0 - -
FSEEA = A 772 13.9 76.3 9.3 0.5
LA g 5 100.0 - - -

® B 63 93.8 6.2 - -

E & 80 - 92.8 5.4 1.8

B R B -
o 8 # W -
N 147 43.4 52.7 2.9 1.0
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a s = =3 & ke =
& & E R | B T2 152173 2 [BEHR
L—%65 3 B 1,128 65.7 31.0 3.3 -
hsbA N 2 - 100.0 - -
EHRniEHMm(RERWRS D, )5 4134211 79.5 17.9 20 0.6
# = & S = 4213977 78.5 17.9 2.1 15

i

-] FEENGVLDETRT,

1) SOUEOBEZRTHENRA—BLEVNEELH S,
2) ToJ FEFEIZHEEEZLDLD,
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(BBI:k, %)

o & E th w3 = > = 3 = (B &

EXAN B M| 63 55.5 36.3 7.7 0.5

HrYtb 7 & 589 8.9 87.3 38 0.0

B 5 F 157 - - - 100.0

B H 247 - - - 100.0

o 17 - - - 100.0

B B 1 - - - 100.0

(1T 54 - - - 100.0

=G 1 - - - 100.0

N E 477 - - - 100.0

7AIAEF 7 & 55 19.8 64.1 16.1 -
HALELD = -

245 a 559 69.7 19.2 8.5 2.7

FRAETF E W 0 - - 100.0

HINVETF 5 F -

hISEF E W 44 95.7 43 - -

a 991 69.1 24.0 6.3 0.6

2 H 860 90.0 8.1 1.9 0.1

N E 1,895 79.2 16.3 4.2 0.3

BDFH i & & 21,542 98.8 1.0 0.2 0.0

E&E5E R 37 5.1 87.0 7.2 0.7

E-DLHIE i & & 10 - - - 100.0

=-5435 it i\ & 724 100.0 - - -

=-ELH it | & 9,797 99.6 0.4 - -

=HRDIETE W H 5611 10.5 87.9 0.8 0.8

LA E A K 426 89.3 9.4 1.3 -

EhAHUE5 I B 59 - 97.2 2.8 -

ILFAEF F N 167 18.6 73.0 6.6 1.9

T OIE 66 49 81.8 13.3 -

N E 232 14.7 75.5 8.5 1.3

HERESS B 40 29.1 31.9 375 14

_hhdb " F 1,066 69.8 21.7 25 -

B | 130 35 85.8 10.6 0.1

o 56 77.7 13.9 8.4 -

B B 1,365 67.9 29.6 2.5 0.1

*x 4 67.1 32.9 - -

S 14,602 50.1 47.2 2.2 0.6

E W 82 79.7 18.4 1.7 0.2

[T 44 49.9 471 1.6 15

N E 17,349 52.6 44.6 2.3 0.5

_ZDA1E T A 8 - 100.0 - -

Ja/IEF g B 15 25.0 29.1 37.2 8.7

T A 37 - 100.0 - -

& R 309 77.9 145 6.2 1.4

2 164 9.7 65.1 215 3.7

L B 380 45.0 35.6 18.1 13

N E 904 47.7 36.2 14.2 1.9

EESS S 88 26.8 66.6 5.8 0.9

—t5F5 I 35 75.8 24.2 - -

—pEL5 T 705 80.8 12.5 1.9 47

HAIAETF = 12 10.2 54.0 35.6 0.2

EEZE w2 14 - 779 22.1 -

SDFEHELE B R B 12 29.6 12.5 27.7 30.1

IDFELE B R B 7 - - - 100.0

IDFELE B R B 232 14.6 8.3 62.2 14.9

BEP B B B 2,129 6.3 81.7 11.8 0.2

= HR A g & 2 - - - 100.0
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n = F # |4 E

o i E th w3 = > = 3 = (B &

£=F A 0 - - - 100.0

+EH%RE E AN 181 31.2 64.4 4.2 0.2

=T3S A 1,132 51.4 23.5 23.5 1.6

HRIEFE E W 2,027 65.5 29.0 46 0.8

a 392 74.7 17.0 8.1 0.2

B H 3 100.0 - - -

NE 2,421 67.0 27.0 5.2 0.7

HPN =55 WD 167 35 82.2 13.0 14

pitl i E W 3 - 77.5 22.5 -
ERAYE S i [ -

=P FELH I B 1,804 66.3 29.2 3.7 0.8

-2C1b A 12,233 3.6 90.3 43 1.8

1T 19 43.8 56.2 - -

N E 12,251 3.6 90.3 43 1.8

=F0HEH = A 52 - 94.9 1.2 3.9

BOFADETF 2 H 597 91.8 7.6 0.5 -

YEXIETF F E 42 9.7 89.6 0.4 0.4

ThNib T2 708 63.8 35.7 0.5 0.1

LEHELL # H 3,059 1.1 98.0 0.1 0.8

EHBHD = I 1,191 94.0 6.0 0.0 0.0

F<EL5H5 t i & 14,191 98.3 15 0.1 -

ININET B 105 12.1 73.1 14.6 0.2

FUFELL E E 273 42.5 441 13.4 -

EFIEF = 0 71 0.8 85.7 11.3 2.2

kB B 37 6.3 84.6 43 48

N E 108 2.7 85.3 8.9 3.1

EA/EF ' & 21 93.1 6.9 - -

5 F 7,061 91.8 7.9 0.2 0.0

T W 85 89.7 0.9 9.4 -

M H 45 33 96.7 - -

o 5,754 73.9 21.8 2.9 1.4

B B 1,639 93.5 6.3 0.2 0.0

*x 279 73.7 23.9 2.4 -

m K 46 75.1 7.2 15.8 1.9

F E 6,492 845 145 0.9 0.1

£E % 183 82.7 145 2.8 -

# ' 65 29.7 70.3 - -

B 293 64.8 32.6 2.3 0.4

5 R 610 54.0 38.8 5.9 1.3

2 892 46 84.8 8.5 2.1

L B 585 430 50.4 6.3 0.3

N E 24,050 79.3 18.4 1.8 0.5

EIVEF 2 A 164 30.6 69.4 - -

= B 59 12.8 75.5 11.7 -

A 200 87.6 11.2 1.2 -

= M 2,219 23.6 74.3 1.4 0.7

=B 21,481 40.1 58.3 1.4 0.2

E 15 42 - 94.2 5.8 -

B K 8,607 7.7 89.3 2.4 0.6

X & 210 1.2 59.2 38.9 0.7

N E 32,983 30.4 67.3 1.9 0.3

S5 F E 585 74.4 23.3 1.5 0.8

ShYis B B 35 - 48.9 51.1 -

TUTYETF *x W 815 52.8 35.7 10.3 1.2

F E 358 51.7 436 4.1 0.6

3 B 33 70.2 29.8 - -

IUFYEF(DDE) £ &E 178 3.6 77.9 17.3 1.2

W A 103 50.0 445 3.7 18
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s = = & ke &=
i " ER R % [ 2% [ 3 % [Mmtks
N 1,487 46.8 43.1 9.0 1.1
FARKEE B 4 20.3 473 32.4 -
IahEF 5 213 5.6 75.2 185 0.7
B LS T A 5 - - - 100.0
ENELL % E 16 5.7 62.7 31.6 -
F OE 2,403 78.5 19.6 1.9 -
g N 15 100.0 - - -
&% M 215 76.8 18.1 4.1 1.0
% B 245 57.0 43.0 - -
E R 114 50.2 447 0.5 45
BB K 695 0.4 79.4 20.2 0.0
B R B 29 - 69.2 28.1 2.7
N Et 3,732 60.7 33.4 5.6 0.2
HOIHRLE EHR 4,736 16.2 73.9 9.9 -
SYATEF 1T 420 67.7 27.2 4.1 1.0
B2 B FH 61 100.0 - - -
HAZED 5 F 52 100.0 - - -
50MY E % 290 76.6 19.6 3.7 -
PEEA = F 382 80.6 19.3 0.0 -
EFI/Y m K 24 96.4 0.1 35 -
g B 182 6.0 82.6 7.8 36
o 7 - 32.1 62.4 5.6
= B 48 14.1 68.9 10.4 6.5
T IE 10 - 58.2 26.5 15.4
N E 271 15.2 70.6 9.9 43
EYEUEF E % 203 73.6 25.0 15 -
Yo OEF 5 18 42.1 432 13.0 1.7
= 41 16.7 31.1 41.0 11.3
N E 59 24.2 34.7 32.7 8.4
W45 1285 1T 115 90.7 9.3 - -
YIITUEF T E 262 64.3 28.4 7.2 0.1
FoITH5 5 F 7 - - - 100.0
M H 2 - - - 100.0
N 9 - - - 100.0
pEHDY o8B 1,073 0.4 71.3 28.2 0.0
WPpEHSLN ) 2,980 47.8 49.7 1.8 0.7
5LVE 5585 E W 133 26.9 38.8 344 -
Hi=1F5L R 12,228 66.9 29.1 3.0 1.0
EEHh I BAARET 188,264 58.2 38.2 2.7 0.8
hHEH= 194,714 57.4 37.9 2.9 1.8

F:1) IUUROBEBRTEERNRA—BLEWNGEELNH D,

2) TOJIFBAEIZHEEWNED, T-IIFBEEAZNEDETRT,
3) MEREBEHEICIIEMSBERALUNDOHEL S ENS-OEMBIFRRITE—TLAIL,
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T i3 = F e R
AR £ a
B E B % 2| 2 % | 3 % [#HHE45
Z1l o 890 9.8 478 36.2 46 0.5 1.1
MEBEZFDS N 2,024 - 0.4 95.8 1.1 1.9 0.9
MDFE X 10 - - 100.0 - - -
allE68S a 125 - - 78.9 19.1 2.0 -
AJIIPY a 129 - - 98.4 1.6 - -
FEAER = 16 - 20.1 - 37.7 42.2 -
B 4 - 100.0 - - - -
I\ 21 - 36.6 - 29.9 33.5 -
—FiE B 63 - - 95.0 5.0 - -
— A~ bl 99 - - 86.5 13.5 - -
WILZDE K 17 - - - 100.0 - -
BENE 53 3 - - - - 100.0 -
G R 323 - 1.2 64.9 23.6 10.3 -
FpE 1] 44 - - 79.9 - 20.1 -
BNE 5 24 - 8.7 58.9 115 20.8 -
BLUFEN B H 11 - - 975 - 2.5 -
T BT F OE -
i J 8 - - 64.8 35.2 - -
X B 2 - - - - 100.0 -
E E 14 - - 14.2 85.8 - -
@ 2,555 0.1 6.1 53.7 125 14.6 12.9
L B 74 2.4 54.1 33.8 8.4 1.3 -
F 3 - - - - 100.0 -
= | 20 - - 96.4 36 - -
X & 1 - - - 100.0 - -
N E 2,677 0.1 7.3 53.2 12.8 14.2 12.3
LSS = W 386 - 0.5 97.8 1.6 - 0.1
N B REHT E 18 58 - - 58.2 36.9 4.6 0.3
HRER #® H 128 - - 94.7 35 - 1.8
1T 32 - - 100.0 - - -
5 23 - - 57.3 42.7 - -
INF 182 - - 90.9 7.8 - 1.3
W ER/\ R 5 15 - - 98.2 1.6 0.2 -
R F = 11 - - - 29.9 70.1 -
HDiE = 191 - 4.0 81.2 14.8 - -
HDE 5 41 - 18.5 66.9 10.6 3.9 -
K ;R 178 - - - 100.0 - -
=1-L3< t # & 449 - 8.8 91.2 - - -
ki w2 17 - - 100.0 - - -
mDE TR -
HDES m B 4 - - 100.0 - - -
B EIEF g & 64 - - 78.1 21.9 - -
FAEED " F 257 - - 83.3 11.9 1.7 3.1
BEAD = F 461 - - 97.0 3.0 - -
BOWLASIE = W 105 - - 50.5 495 - -
Kok T 1 - - 100.0 - - -
@ W 5 - 100.0 - - - -
m B 8 - - 100.0 - - -
B | 30 - - - 100.0 - -
B K 10 - - 89.7 - 10.3 -
X & 34 - - 15.8 75.9 5.9 2.3
IN BT 88 - 6.2 27.0 62.5 34 0.9
oY M | 135 - - 75.4 15.4 8.0 1.2
BN =2 264 - - 10.6 49.2 39.5 0.7
153 i i & 1,038 - 45 95.5 0.0 - -
BwRE ' 225 - 17.3 61.4 18.9 2.3 -
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o - F # |4 E
i i E R \RH T Tre] 2 2% 3 % [BRS
EHER E % 276 - - 86.0 12.1 1.9 -
NLEEE 2 H 15 - - 545 455 - -
BDE = W 704 - - 24.5 71.5 3.7 0.3
—WZ\EFEL L B 22 - 97.7 - 2.3 - -
(=Wl E W 75 - 6.0 48.6 34.0 9.9 1.6
R GRS R 46 - - 84.8 - 15.2 -
RN EE oA 1,069 - 0.6 73.6 23.6 1.4 0.9
B FE g FH 137 - - 99.1 0.2 0.8 -
R g & 25 - - 100.0 - - -
ABAA TR 3 - - - 100.0 - -
E B 687 - - 93.1 6.9 - -
*x W 75 - - 84.6 12.8 2.7 -
7 N 272 1.3 14.7 67.8 12.1 - 4.1
B E 28 - - 55.9 - 441 -
m E 23 - - 86.1 4.9 9.0 -
F OE 82 - - 81.0 15.8 3.2 -
ooR 7,952 - 0.6 79.7 18.7 0.4 0.6
= W 2,174 - - 99.6 0.2 0.1 0.1
a 474 - - 89.7 8.3 1.9 -
B H 1,787 - 37 93.3 2.9 0.0 0.1
g B 12 - - 39.0 31.4 27.4 2.2
- 17 - - - 9.4 90.6 -
= = 42 - - 82.2 17.8 - -
R A 237 - - 28.0 56.7 15.3 -
X B 0 - - - - 100.0 -
E E 425 - - 58.7 40.6 0.6 0.1
M oW 11 - - - 67.7 32.3 -
B m 65 - 9.7 715 13.9 49 -
& R 341 - - 69.7 27.1 2.7 05
1T ! 3 - 100.0 - - - -
X & 40 - - 78.7 20.9 - 0.4
INE 14,751 0.0 1.1 83.1 14.4 0.9 0.5
781345 & B 8 - - 925 75 - -
FEDE T =] 193 - 5.2 72.3 9.3 1.8 11.3
EEHR g 18 124 - - 51.8 36.4 11.7 -
SHDE k= =B 174 - - 98.2 1.8 - -
ShiFFEN E: 100 - - 100.0 - - -
EERE W 211 - 36 80.1 - 14.8 15
ST HE B E 91 - - 63.4 29.7 - 6.9
HBEEMmMEE B 28 - - 17.4 82.3 0.3 -
ISR E % 372 - - 89.7 9.3 1.0 -
L9 <& g 112 - - 62.5 36.7 0.2 0.6
=R & 2 [ 29 - - - 100.0 - -
YNES E % 47 - - 78.3 21.3 0.3 -
=E3] E E 9 - - 100.0 - - -
FLAERE1S E E 14 - 50.1 38.6 11.3 - -
h = H 5 - - 75.5 245 - -
kE E 12 - - - 96.7 33 -
BE K 30 - - - - 100.0 -
N E 46 - - 7.4 27.1 65.5 -
FHEESR E & 3 - - - 100.0 - -
H2E t # & 632 - 15.8 82.0 2.3 - -
T8 B 130 - 94.3 5.3 05 - -
f=htais R 315 - - 81.4 18.0 0.0 0.6
£ ¥ 10 - - 455 54.5 - -
E E 6 - 100.0 - - - -
N E 331 - 1.7 78.9 18.8 0.0 0.6
BE®RA g E 29 - 84.5 9.6 5.9 - -
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o a = % B ke &=

i i E R \RH T Tre] 2 2% 3 % [BRS

BEDELLF T 26 - - 72.9 - 27.1 -

Ex T 42 - - 85.9 3.1 11.0 -

# B 232 - - 37.2 61.6 0.1 1.2

M ;oW 3 - - - 100.0 - -

E 63 - - 427 497 75 -

INE 340 - - 43.9 52.5 2.8 0.8

HFEDFELY = 2 - - - - 100.0 -

ZEE EZ R 137 - - 99.2 0.2 0.6 -

H PR < T 1,313 - 13.3 75.0 11.4 0.1 0.2

HPFDE TR 568 - 37.0 59.4 2.8 0.7 0.1

HEDE E E 4 - - 79.2 20.8 - -

T1kEE = A0 51 - - 20.5 78.9 0.6 -

LHEE14 WK 28 - - 100.0 - - -

ENE = W 23 - - 453 54.7 - -

2E T 4 - - - 100.0 - -
E%iH105% B -

Fr&iE E E 12 - - 52.7 28.8 18.5 -

=Fg E E 412 - 12.7 75.4 11.9 - -

T =! 37 - - - 40.3 59.7 -

N F 450 - 11.7 69.1 14.2 5.0 -

I\ E B 87 - 92.4 6.2 - - 1.3

I\RER15 L B 998 - 90.6 24 0.0 - 7.0

I\RER25 ;R 11 - - 100.0 - - -

L 7 & 190 - 1.8 945 3.7 - -

E3A R G 7 - - - 10.8 89.2 -

FEIPAH 5 & 12 - - 100.0 - - -

R BE X 138 - - 81.0 10.0 9.1 -

EWE T A 836 - 17.7 78.4 3.9 - -

BB 8 - - - 100.0 - -

BB 30 - - 945 55 - -

N B 873 - 17.0 78.2 4.8 - -

D=5 * W 120 - - 86.7 12.1 1.2 -

[(SHEEZ I B 705 - 61.7 19.3 18.4 0.6 -

VESIH A N 36 - - 77.6 21.1 - 1.3

1T 168 - - 96.3 33 0.4 -

£ % 806 - - 88.1 8.4 35 -

INE 1,010 - - 89.1 8.0 2.9 0.0

BH B H 75 - - 97.0 3.0 - -

EEI R E E 182 - - 33 96.3 0.4 -

EERR E E 88 12.6 68.3 17.4 - 1.7 -

Hyogo Sake 85 E E 43 - - 49.3 17.9 32.8 -

EEHR T & 48 - - - 100.0 - -

EEZH E E 161 - 6.5 92.5 1.1 - -

(0¥ ) = O 3 - - - - 100.0 -

BHE Bm B 162 - - 94.1 5.9 - -

24971\ F B B 4 - - 100.0 - - -

E E 169 - - 7.7 84.2 7.1 1.0

N B 173 - - 9.6 82.4 6.9 1.0

BoE F O 50 - - 96.7 3.3 - -

HiEE E E 9 - - 60.2 39.8 - -

282F g & 190 - 6.8 90.4 2.8 - -

pE128 S 52 - - 50.2 438 - 6.0

a 1 - - 100.0 - - -

N EE 53 - - 51.0 43.1 - 59

EHmnY . H 12 - 97.7 - - 2.3

£= B M 224 - 45 65.3 13.8 16.4 -

FR ¥ B 26 - - 80.9 19.1 -

e # H 219 - - 86.1 7.0 54 1.4
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(G b, %)

332

o a = % R ke &=
i i E R \RH T Tre] 2 2% 3 % [BRS
E1L5R T W 148 - - 49.4 39.3 11.4 -
BB 961 - 1.6 93.2 2.9 1.9 0.3
1T 506 - 5.3 89.0 5.3 0.0 0.3
= B 188 - - 81.3 17.2 15 -
* W 69 - 4.2 92.2 - 3.6 -
wm R 10 - - 100.0 - - -
= W 4 - - 100.0 - - -
1T 11 - - 100.0 - - -
£ % 1,847 - - 96.1 3.1 0.8 -
N B 3,742 - 1.2 91.7 54 15 0.1
SHMEEL B M -
wiEHaE TR 76 - - 90.8 4.2 4.9 -
B 22 - - 66.8 33.2 - -
N EE 99 - - 85.4 10.8 3.8 -
IIEER T W 36 - - 17.6 82.4 - -
1T 1 - - - 100.0 - -
= B 113 - - 93.7 5.0 1.0 0.4
* 44 - - 74.9 15.8 9.3 -
7 N 996 0.7 12.9 64.5 105 6.3 5.1
BB 2 - - - - 100.0 -
m E 56 - 2.2 72.2 6.9 18.7 -
F E 13 - - 15.5 845 - -
wmxE N 74 - - 80.8 0.7 18.2 0.2
R 624 - - 76.5 11.2 9.7 26
= W 486 - - 92.8 7.2 - -
a 57 - - 81.6 17.2 1.2 -
B H 96 - - 79.2 2.5 18.2 -
1T} 28 - 9.6 314 5.8 45.9 7.3
£ % 34 - - 93.1 - 1.6 5.3
% m 371 - - 68.8 15.3 15.7 0.3
po ! 25 - - 96.4 - 3.6 -
= = 332 1.1 50.1 28.8 13.6 6.3 -
# B 680 - 10.6 52.1 30.5 4.2 2.6
W # 161 - - 40.1 50.4 7.8 1.7
X B 24 - - 4.1 11.9 78.9 5.0
E E 15,656 5.1 57.9 21.2 38 5.9 6.1
= R 158 - - 31.7 495 15.4 3.3
M oW 22 - - - 60.1 39.9 -
B m 343 - - 55.6 22.6 21.8 -
5 166 - - 37.3 56.6 5.8 0.3
MW 2,464 0.1 0.4 53.0 18.0 21.6 6.8
L B 872 - 14 80.5 85 7.6 2.0
1T ! 1,811 0.4 23.0 545 8.2 12.0 1.9
®m B 403 - 68.7 12.8 35 14.7 0.3
F 28 - - 215 47.9 30.6 -
Z IR 29 - - 46.8 53.2 - -
B2 30 - - - 55.1 44.9 -
7 M| 930 0.5 4.7 76.9 8.7 6.3 2.9
5 =B 242 - - 40.9 24.0 27.8 7.3
E & 63 - - 135 49.2 22.7 14.6
B K 183 - - 71.0 19.7 - 9.4
X 2 60 - - 45.1 225 29.6 2.9
=G 9 - - - 24.7 75.3 -
R B 1 - - - 100.0 - -
INEE 27,725 3.0 36.8 37.7 8.9 8.8 49
ILETE g E 121 - 68.0 26.7 5.3 - -
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% m E ok | 8 3 ki # = *

B | B %1% | 2% |3 % |#HKEN

HDE 5 F 124 - - 41.6 39.0 19.3 -

= A T 319 - 7.2 82.4 49 2.9 2.6

SR = =B 2 - - 100.0 - - -

Z5E 2 A 111 - 45 35.5 55.6 45 -

5385 K 130 - 6.3 78.4 8.1 - 7.1

21K (T 135 - - 95.5 45 - -

% 151 - - 97.5 2.5 - -

N 286 - - 96.6 34 - -

Z2NE E B 1,201 - 0.4 90.8 8.1 0.8 -

ERE ®w = 25 - - 94.4 - 5.6 -

ER) 8 - - 100.0 - - -

N 32 - - 95.7 - 4.3 -

=K *x W 7 - 100.0 - - - -

B E 39 - 6.0 78.4 15.6 - -

wmxE N 20 - - 60.2 28.2 11.6 -

A 102 - 148 54.0 25.2 6.0 -

X & 16 - 31.0 51.0 16.1 - 1.9

N F 184 - 16.0 57.6 21.8 4.6 0.2

R *x W 55 - 30.4 14.7 12.8 421 -

EM2E E E 68 - 62.5 17.0 20.5 - -

E O & f#E # W &t 73,462 1.3 18.8 60.5 11.8 5.0 2.6

s % ' # = 77,397 1.2 18.8 57.8 11.7 7.7 2.8
E:01) SOVFOBERTHEARARN—BLAWNGELH S,

rj
2) ToJ IFEHMICEELZWBD, T-] EEEALEZVEDETT,
3) MBRBREHBEICIEDIEBRRUNOKRELETNS-OEMBIERATE —B LA,
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